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TRE23EE ASER BHEAH SREH ZEREH EHREH FEHK
2 z 8 xz 2 = = H
REERFE HPREAFER |AOAHR 5 25 15 40 25 15 40 10 12 22 10 11 21
AEFHEBAS 25 91 32 123 90 32 122 45 23 68 31 14 45
— A 30 80 28 108 78 28 106 21 9 30 7 4 11
HEAAR T4 3 1 4 3 1 4 0 0 0 0 0 0
&it 60 199 76 275 196 76 272 76 44 120 48 29 77
ERBEEFER |AOA 4 4 9 13 4 9 13 3 9 12 1 9 10
AEHIERAR 16 19 20 39 19 20 39 15 18 33 6 11 17
— A 20 21 21 42 19 20 39 14 16 30 9 8 17
2 AAR =T4 1 2 3 1 2 3 0 1 1 0 1 1
&it 40 45 52 97 43 51 94 32 44 76 16 29 45
EREBEERH —RE AR 40 39 50 89 39 49 88 1 38 49 11 36 47
REHE 140 283 178 461 278 176 454 119 126 245 75 94 169




